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QUESTION 1

As shown in the figure, the operator\\'s BGP/MPLS IP VPN backbone network builds SP through DP. If you want to
implement user X.

If the two sites communicate through the BGP/MPLS IPVPN network, PE1 and PE2 must use a 32-bit masked loopback
interface address to establish an MP-IBGP peer relationship.

A. True
B. False

Correct Answer: A

QUESTION 2

Which of the following operations is not part of the middle stage of dissection?
A. field defense

B. cutover implementation

C. Cutover preparation

D. business test

Correct Answer: D

QUESTION 3

Which of the following are static information coke analysis?
A. Interface Type

B. Packet loss rate

C. License

D. Equipment type

Correct Answer: ACD

QUESTION 4
In BGPIMPLS IP VPN, if the OSPF protocol is used between PEs and CEs to exchange routing information, the domain

identifier (Domain ID) is used to distinguish whether the incoming routes in the VPI instance come from the same OSPF
domain.
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A. True

B. False

Correct Answer: A

QUESTION 5

The rules of RR advertising routes violate the rules of IBGP split horizon, so it may cause loops in the AS road. Which
routing attributes does RR use to prevent loops?

A. Cluster List
B. Originator ID
C. Nexthop

D. AS-PATH

Correct Answer:. AB
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